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330t & fore srepger /Instructions to the Candidates

1. 39 ZaRT aF HIAE H T U 1T 3Hief-ogeT 3T & MUR T 3119 T e & fore snfya
femam aram &1 afe 3nus a9 & srer wfafte 6y & a1 Fae ¥ IeTar anfld dvadr 7f @ E G
&

You have been called for the written test based on the online data furnished by you in the web application.
if_you have wrongly entered in the web any information or you do not possess the required
qualification as per our advertisement, your candidature will be rejected.

2. SRR, 80 TRl § ol WeA-RETH F T A § 3 odaw A 3@fr 02 6§ |
The Question paper is in the form of Question Booklet with 80 questions and the duration of the test is 02 hours.

3. 9 faedt wfd argirss waR & Wi g omd @ % ve smfdew w9 & @y g |

The questions will be objective type with four options out of which only one will be unambiguously correct,

4. 9AF T AT 04 31w g 3R U T 3R FAT T 3w T smeer |
Each question carries 04 marks and one mark will be deducted for each wrong answer.

5. ST & 3caX A  FAT IHeraT HTHANR Ieer-gieaat & Fmeef
A separate OMR answer sheet with carbon coated copy will be provided to mark the answer options,

B. IR, FeR-IRAH A T 71T 3reiget & 3O, Arefiyrelr T8r F it ue 97 F AN 3ek-
qfecet o Heftier Jiiaer I 3R 1% T Scal F1 U1 HAT 8

You have to select the right answer by marking the corresponding oval on the OMR answer sheet by
blue/black ball point pen as per the instructions given in the answer sheet.

7. UH 9 & AU 3 Ical Tad AT S0
Multiple answers for a question will be regarded as wrong answer.
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10.

11.

12.

13.

14.

15.

TR ZIV F A Hied T2 I #ig MNTHAIR Ieak JRden R AEse T R fergar =nfav|

Question booklet code printed on the top right corner should be wriiten in the OMR answer sheet in the space
provided.

Y- QECTHT H HIIHT ATH 2T Hefghaieh Tl o |

Enter your Name and Roll Number correctly in the question booklet.

HITHANR SeaT-qrecart 7 ot wfaftea drelaredy Tame) & ater wge 9 & & 6 oeh TR

All entries in the OMR answer sheet should be with blue/black ball point pen only.

aqfrer gfer F et i Iufeufd 7 € 3o gia-feawe/PIeame w gTaneR #i=r aifgv|

You should sign the hall ticket only in the presence of the Invigilator in the examination hall.

e, Ale 3Tfe; el BT gty et & et

Computers, calculators, mobile phones and other electronic gadgets, text books, notes etc., will not be
allowed inside the written test hall.

- W FRF 2
Bt - o o 3y t

On completion of the test, tear the OMR answer sheet along the perforation mark at the top and hand
over the original OMR answer sheet to the invigilator and retain the duplicate copy with you.

-gieaet 37t 319e ure T wa g

The question booklet can be retained by the candidate.

et & WA T & G 39t el odieT g Sige i HeTAT el Bl

Candidates are not permitted to leave the examination hall during the first hour of the examination.

2 1388



d AT HETAF) FI/AEMEE — (T8 H.1388)

SCIENTIFIC ASSISTANT (AGRICULTURE/HORTICULTURE) — POST NO. 1388

.......... & e FRET 8] Al SarT 3Tas 8 Tefa & Afios waTnr & A a¥
1882 eRTT Wi & o1 .U fAcaRse & Ssaran fAsor & nfasea fram)

Bordeaux mixture was discovered by P.A. Millardet of France during the year 1882 following his
chance observation of farmer’s practice for protection against

(2) STl G CAFATRT fafeshia/plasmapara viticola on grapevine
(b) CTEIATI W AFeR/Uncinula nectar on grapevine

{(c) I 9T GISTERT F?ij\aﬁfaﬁl'fPodosphaera leucotricha on apple

(d) W ar_tl\ﬁ?ﬂ gASFA oI/ Venturia inequalis on apple

INEATRIERE dieart [Awada A7 AERREe wsma & aRoms ... BT Bl

In organophosphate insecticide poisoning the muscarinic effects result in

(a) UARFTATAnarexia

(b) fArerell/Nausea

{c) aﬁaﬂﬁm-"Bradycardia

(d) 39IFT TVAI of the above

BRIFAT @ .o ZaRT H™T T Siar &/Pheromones are synthesized by

(a) T T/ Thoracic glands

(b) T 3T FRAFIGlandular epidermal cells
(c) dfFrETEr FITAFHI/Neuro-secretory cell

(d) IR HeMV/ALL of the above

famror T o) SAATAHRA A SR WA g (F FROT A ArEdr FA arer flgid

The theory explaining the cause of variation and evolution, (continuity of Gemplasm) was put
forward by

(a) Ired SRIAA/Charles Darwin

(b) e SAvoT ﬁgﬂ'f’Grcgor John Mendel
(c) drFH=/Weismann

(d) E?Jj'ﬂ' f& a188/Hugo de Vries
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HITAREY T o S HorH FAwedr H FIfeadt F HeAAT F I WA

The branch of genetics concerned with the study of frequencies of mating populations is:

(@)
(b)
(©)
(d)

WBW!Quantitative genetics
SATIETI 3ﬂ?:la_q;f?77=ﬁ17-’Behavioral genetics
SAHEAT 31'@3% /Population genetics
2{\3-“@3% /Eugenetics

I (FETEER) 9ier ... T aE ITFHo U §/Mangrove plants show adaptation like

@
(b)
(©)
(d)

80 fFellam N 40RFaRma P,0s 9T 100 fFaams K,0; 57 f&sor & 33 gelt
80 Kg N, 40 kg P,Os and 100 Kg K>O; then the grade of this mixture will be:

HIEAH FHeA/Stilt roots

WA HA AT HASIBIY/Respiratory roots or pnematophores
fafatR/Vivipary

3’?{533"6[ THI/All of the above

(a) 20-10-10 (b)  8-4-20
(c) 8-4-10 (d)  10-4-10
C, TYT C Al H URI-HANOT T JUH IeUG FHM ..o &1

First products of photosynthesis in Cs and Cq4 plants respectively are

(@)
(b)
©
(d)

fafee e 3R Ao 3F/Citric acid and malic acid
VIR HFeT HR TR HF/Aspartic acid and Glutamic acid

FIERITTAANE 3Fa 3 HTFareiva@fee 317a/Phosphoglyceric acid and Oxaloacetic acid

UTfaer 3+ AR TRESH 31F/Pyruvic acid and Glycotic acid

AT o gfaw & &/Pyrilla belongs to the family:

(a)
(b)
©
(d)

tifaf2s/Pyralididae
YeTelfAS/Pentatomidae
&S/ Jassidae
Fedl{s/Fulgoridae
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10.

11.

12.

13.

14.

15.

firgt & 35 pH W ¥ freft SgE T ufEd R A eR A fl Al — ke B

The capacity of soil to resist appreciable change in pH value is known as
(a) i oe & / Buffering capacity

(b) 9GdATId faf9a &9 / Cat-ion exchange capacity

(c) AT / Plasticity

(d) TATRRH / Elasticity

AR A Aaid Wl & v e i 75 3epEis dR ) 9Resa @l v d

(a) THTEI/Tomato (by  TAT/Chilli
(c) 3ire]/Potato (d) a'?'l?-l'/Brinjal

(a) STeTelT T 3R 994 FfﬁﬁﬁﬂTfWild spp. x prunus fruiticosa
(b) W?ﬁﬁ'ﬂ-ﬂwm T TfaTA/Prunus fruiticosa x prunus avium

(c) Y98 TiaaA3R Tt lchfﬁaﬁ\ﬂ:lT/Prunus avium x prunus fruiticosa
(d) 3'@_1%’ 3 ¥ FIF Y FAE/None of the above

STl &l ©elcd ... W HWFHAA BT §/Density of water is maximum at.......

(a) 100°C (b) 0°C

(c) 4°C (d) EHATTF/Always one
Mesad dIad ........ ¥ R §/Golden rice is rich in

(@ FfafAaadvits b)) faf@EaTvit A

() Teaf@adrvit. D (@) ReEf@EadyvitC

AYAST F AIATA B AGA & AT GIoFed BRI &Y . gl ST B

A screen which is used to measure the temperature of atmosphere is known as:

(a) TISHAUT THA/Symon’s screen (b) HTq-aEng gIH/Thermocouple
(c) TEGaTHA Ghie/Stevenson’s screen (d) Felleh ThIaT/Clark Screen
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16.

17.

18.

19.

20.

HFT IR TerasT & ... faeaar & Asor § duR fFar ST T@haT B

An acidic buffer solution can be prepared by mixing solution of:

(a) H@F&tﬁa? 3T 3R WMfETH Tehe/Sulphuric acid and sodium sulphate

(b) AfATA FoIRESs R AATH gEgeraigs/ammonium  chloride and ammonium
hydroxide

(¢) 3IATTH wHReT 3T vHifess 3Fcl/ammonium acetate and acetic acid
(d) TFIH FARES 3R WETA TFZFA138/Sodium chloride and sodium hydroxide

T GOR-BIEhe H BHRE HEA: ... ® H aar gl

Single Superphosphate contains phosphorous mainly in the form of:

(a) CaHPO, (b) Ca (H2P04)2
(c) CaH; (POs)2. 2H,0 (d) Cax(POa4)

HRFTH ATGEISA T A Ford ABgr 393 F/Nitrogenous fertilizer with highest

nitrogen content :

(a) ﬂﬁ?ﬂ/urea
(b) IAATH FARES/ammonium chloride
(c) IGECE G /anhydrous ammonia

(d) S #r A€ /none

fArTarad J fRad Al Bl #/Which one of following contain blue flower

(a) Hrfear ﬁlﬂ-g?ﬂf Cassia fistula

(b) e I A/Delonix regia

(c) SRR fFar T 3a/Lagerstomia speciose
(dy STFRTET TFgfemiferan/Jacaronda acutifolia

e 3k WRele ... # A== e E/Himrod and Perlette are varieties of

(a) 9drdT/Papaya (b) HTH/Mango
(c) 3¥AFG/Guava (d)  3TGrape
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21.

22.

23.

24.

25.

26.

Lantana camara syn. L. Aculeata.... 9R@R & §/Lantana camara syn. L. Aculeata belongs

to family.....

(a) THEHIVerbenaceae (b)  TMEFHVLythraceae

(c) STHI/Rosaceae (d) UFAH/Acanthaceae

q gl S 39§ W A BATIR AT FA e FEATT 2|

The plants which do not set fruits with their own pollen are called as...........

(a) W-WFCross-fmitful (b)  IHARCHA/Unfruitful

(c) W-wf'Se]f-unfruitful (d) 3‘!’?;3'?-[ qHI ﬁ'é‘ 81T sT€i/none of the above

Theee ¥ qd WET AR 39T & ... FEa E/Pollination and fertilization before

anthesis is called as....

(a) FHATIAT/Homogamy (b)  IHTHICH WETOT/Clestiogamy
(c) TAeAFITIFad/Dichogamy (d) 3eHTSl WIETUT/Chasmogamy

(@) RNF T AF-TTrAfA® FRON/Physiological & biochemical causes
(b) ®HIcHS Wﬁ/Morphological causes

(c) SATAF FROM/Genetic causes

(d) 39LFT /Al of above

.......... 39T H 8N HIGH FT 94T g1 §/Bahar season is practiced in.... crop

(a) HIX/Pomegranate (b} HHA®C/Guava

(c) T/Apple (d)  sBer

cryopreservation...........

(@) 100°C () 0°C
() +196°C @ -196°C
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27.

28.

29.

30.

31,

fAafef@a & @ 9 te W-REr & 78 B 39S ART B?

Which of the following 1s not a cross pollinated fruit crop

(a) Y4IAr/Papaya (b) g/ Jackfruit

(c) TA/Cherry (d Z=THH EFTé‘ 8T STE1/None of these

Evergreen fruit like mango, guava and jackfruit should be planted in the month of

(a) FE/May (b) ST TS June July
(c) @Y ATY/February March (d) feTS/December

MHAHA .. & B3P T B F1 PREe #F HIH>a fFar a1 g&ar 2

Fruit drop in mango can be controlled with the spray of

(a) NaCl (b) NAA
(c) GAs (d) BHC

(a) e e & pRfAvafae@Te/Agril. Universities of Great Britain
{b) Wﬁ' 34;—317_-13313' Frerst/Land grant college of USA

(c) T EY delt TR/ Tenessee Valley Authority

(d) Tl ﬁ?ﬂﬁ@m.fCOmell University

UHST GOl & 37ele Feffentor & 37aR flee &1 Hor gR@Amwr ......... gl

Under USDA system, silt is classified as having particle size of ....

(a) 0.002 & 0.005 FREEHEY d9/0.002 mm to 0.005 mm
(b) 0.005 8 0.01 FAAHET d%6/0.005 mm to 0.01 mm
() 0.01F 0.02 AT 3%/0.01 mm to 0.02 mm

(d) 0.02 § 0.05 [AelHAT I%/0.02 mm to 0.05 mm
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33.

34.

35.

36.

37.

UAIhaEl H 9T AAarel [Aeaahraqaadr ........ &/The type of dichogamy found in Avocado

(a) WCRISAIA/Protogynous

(b) HCHICHSI/PSDSD

(©) E{% fA=eTerasaar/Duo Dichogamy
(d) 9ENg/Protoandry

iy 3o A feAdehthers) ardeiRTdt (F TER .. &/Type of parthenocarpy in Sindhu
mango Is.......
(a) Hﬂﬁﬁmm&tenospemocamic

(b) 3¥9H/Stimulative
(c) aTEITA/Vegetative
(d) @IS FGI/None

3T & HRPhea & e FIA-T1 ITTS T297 FAT AT Thdl 87

Which chemical serves as an alternative to caprification in Fig

(@) CCC (b) BOA
(c) SADH d) CPA

I F B0 wEe..... §/Triploid cultivar of Tea is

(a) 3HA/Athrey b) gmeundaram
(c) FTUUH/Jayaram (d) INEBISTGolconda

EE #Fr e T 8/Nugget is the dwarf cultivar of

(a) =TI /Pear (b)  3MZ/Peach
(c) @=/Apple (d)  JTET/Plum
: :
I cosxdx Sl Hlel............. #/The value of Icosx dx?
(a) -1 ®) 2
(© 1 d 0
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38.

39.

40.

41.

TN H HURTS ... IR Tafa ar ST @Far §/Granulation in mandarin can be

controlled by

(a) &g & weldi/Reduction in irrigation
(b) HaT f&sshal/Spraying of lime

(cy d&A 3{T-TJ§?ﬂGIF[-"Copper application

(dy =eE) Toeah (3-1?_-13'9'!3?]3!?1' /Zn application

3T AaT fAAwET foeet pH5.0-5.58 #d § 394 @ Ha8 Hecaqul fasw gfaats
FRE FHAT:.. 8

............... is probably the most important growth limiting factor in acid soils especially those
having pH below 5.0-5.5

(a) Ife"IH/Calcium (b)  GrETIf8TH/Potassium
(c) HATSLISTA/Nitrogen (d) ﬁﬂfﬁﬁﬂﬂmluminium

Sl & T A F A & . Rl & @ B aEfr @ g B & R
Fifdd AT ST §

For mungbean the period between ..... days after sowing has been regarded as critical for weed
control.

(a) 10 31R/and 30 (b) 15 3iR/and 40

(¢) 25 3iand 45 (d) 5 3R/and 25

.......... % T HROT & a1 AR IReH F 3HTEAINT & FT H cgcdea fomar

AT Tl
Nicotiana rustica has been derived as an amphidiploids from a cross between

(a) fARIfAEr sesgarer IR AT wfAFgeney/Nicotiana undulata x  Nicotiana

paniculata

(by AT arfaegerer AR fefearer feadafta/Nicoriana paniculata x Nicotiana

sylvestris

(c) fawifearr cara 3R AwifeaET mﬁHTC_I,T-I'IET.f'Nicon'ana tabacum x Nicotiana paniculata
(d) ﬁﬂﬁﬁ'ﬂﬂﬁrﬁﬂaﬂial sREwifeas Reaafca/Nicotiana undulata x Nicotiana sylvestris
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42.

43.

44,

46.

47.

332 ¥ SCAH 3CUEA & fAT...... W7 HUAed Fer AT HEGIAF T

Sufficient soil moisture at.... Stage is essential for optimum productivity of blackgram.

(a) RMEA 31T %ol & @ Td/Branching and pod development
(b) AW 3R g‘sq?f.*'Branching and flowering

(c) wel & [3rg 3R 9R9eadn/Pod development and maturity
(d) T‘W?uﬂ? ol & [de8/Flowering and pod development

3ET xy = a2, a‘r% .............. &/f xy = a2, then %is?
@ -3 ®» -3
© 3 @

S 1 g T H ATS T FET A &7

Which of the species of sugarcane is referred as noble cane

(a) H=UNH IR TAIR#A/Sachharum officinarum

(b) TTARATIN=H/Saccharum sinense

(c) H=URHA Tqle¢ [adH/Saccharum Spontaneum

(d) FTARAGRSRV/Saccharum barberi

ITAATAT oo Ff T [HTH §/Amimogla is avariety of

(a) 3IFSIR/Fig (b)  JTH/Mango

(©) 31?]:\‘TGrape (d) 3IFARC/Guava
HATAE FF JAEIAE T H . ¥/Botanically pine-apple fruit is:
(a) GYH/Pome (b)  SeEdl/Balusta

(c) S/Berry (d) ARTAH/Sorosis

m*mm#mﬁmwmmwﬁ ...... FET ST B
Conservatlon of rain water by collecting run-off precipitation for supplemental irrigation is called:
(a) S HAIA/Water harvesting
(b) FHY TIET0T/Moisture conservation
(¢) 9ol HIEUT/Water collection
(d) FH-THT TS/ Watershed management
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43.

49.

50.

51.

52.

53.

Wq&moﬁﬁ@ﬁaﬁaﬂs@mﬁmmﬁmﬁﬁm%:
Free living micro organisms which convert molecular nitrogen into its compounds in the soil are:
(a) SASCIATAG/Nitromonas

(b) USSATETA/Rhizobium
(c) JSlIEISeed/Azotobacter
(d) «f&ed ﬁﬁﬁ_ﬁ-’Bacillus mycoides

HET To9 i THET H IR HA T AT 386 [T F 93 aogEcT & . C)

ST gl
The hormones that initiate for formation of floral primordia or promote their development are called :

(a) acﬁ?h_{) my (ETHTFFGromh hormones
(b) UTEUETAA/Phytohormones

(c) EI_FCﬁ' IGUECYY lowering regulators

(d) 9= gTHIA/Flowering hormones

AT H 3c9a ﬂi B FEE ST BFHEA. ... 8/The most popular wheat variety grown in
India is:

(a) PB-343 (b) HD-2329
(6) Raj-9111 (d) HD-2285
j

AYAE ¥ 75 AT & foe v sitwedhr oier & fawier 1 sy &

Which medicinal plant is recommended for diabetic patients?

(a) STEIA/Isabgol (b) TRAAStevia
(¢) HdTaY/Satavar (d)  ®eAT/Senna

ELISA.......... e § SE §-é ST B/ELISA is ---—-- linked test.

(2) Sfamo/Bacterial (b)  WIEISA3/Protozoa
(c) daISXA /Virus (d "Hall

2 2
tim 2% 12 1 L The value of lim 2539
x—o x< _ 9 x=yo0 y* _ 79
(@ 3 (b) 572
() © d
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35,

56.

57.

58.

99.

(a) THTCY/Tomato (b)  SIA/Brinjal
(c) 3Te/Potato (d  FA-IChilli

wiota AFE....& fOr f@we A Si@ &/Golden Nematode is the serious pest

(a) 3TeY/Potato (b) TATSA/Onion
(¢) TRvchilli (d) TEgA/Garlic
A=A («'ﬂﬁ"\’l?f) HI FATATAS ATH............ &/Botonical name of carnation is

(a) lﬂ'c-_nj\ﬁ?]T T/ centuria cyanus

(b) TTATCH I/ tagetis errecta

() SHWUAH sraftherd/dianthus coryophyllus
(d) aIfaar REeel/celosia cristata

................. UFd S TH B g/Single seeded berry is

(a) STRIA/Coconut (b) FISl/Cashew
(c) FIhV/Coffee (d) FIRlArecanut

3FR’A=[2 :2] A K &1 A fohaar gom arfes A2 = KA -21?

IfA= i :2] , then the value of K so that A*=KA-2lis?
(1 2 1 -2
@ [; 1] ® [; 7]
—1 2 -1 -2
© 13 _1] ) [—1 -1

FHIA-1 (o8 BWR) &1 ST @ #/Genomic constitution of FHIA-1 (gold finger) is

(a) AAAA (b) AAA
(c) ABBB (d) AAAB
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60.

61.

62.

63.

FEIEA & TG & 3TaR Gl & Hade H aifAd fFar Jen aifgw @i

As per principles of crop rotation pulses should be included in rotation because

(a) & 3Tl =T A & Icuiea] A gig Ao
They increase the yield of succeeding cereal crop
(b) Tl &Tel Sedes H g ot &
They increase total pulse production
(c) ¥aT 3ORAT I TATT TEA H HGE TG XA &
They help in maintenance of soil fertility
(d) 31Tel Ee & fAT Sroe & fF I Reed wxa €

They release land quickly for the second crop

g & Gt F 3= Fr Fafof@a R & Fg [/ & e do7 g &
daR gl & 9o fear ST gar 87

By which of the following method of raising seedlings of rice, we can get the ready seedling in
early time.

(a) FoIfed FamdT AT/ Wet bed method

(b) 39T [af8/Dapog method

() U F7dr f&T&/Dry bed method

(d) 39YFA & { 1S 1 € /None of the above

AT El?lﬁ'ﬂ?fﬁﬁw ....... H FEE Weld ar &/Delinting of cotton helps in
(@) MR 7iversh Aerst SFeTeh AT AT A ARA

Killing of hibernating boll worm larvae and disease pathogen
(b) < W/Quicker germination
(¢) Tt F AoTTA/Grading the seed
(d) IT§ FI/All of these

HARHAA ,...... F drT FT ol AT &/Mycorrhiza is symbiotic association between:

(a) sﬂam; 3R ITgHife gyt & FT2/Bacteria and roots of higher plants
(b) Werear ARFTaHIfE qrgut & SS/Protozoa and roots of higher plants
(c) arer 3R s % ST3/Algae and roots of orchids

(d) ‘Fﬁé? 3RFTaIfe Ireul & F5/Fungi and roots of higher plants
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64.

65.

66.

67.

68.

15 AHASANT A R AL & A v giderddr Sh...... FET S
Percentage of moisture held in soil at a tension of 15 atmospheres is referred to as:
(a) Folar ﬁg T FATfeT Uirran/ Wilting point or wilting percentage

(b) 31T &TAT/Moisture capacity

(c) JI9cIeY A T Forfar U;I'UTiﬂ?.-"Wilting co-efficient of available water

(d) 3dFT A HS o7 FE/None of the above

qedl Gehfel & AR T A 9S......8/According to flowering habit datepalm is

(a) SEATIT/Dioecious (b) AATATTE/ Monoecious
(<) ?ﬁm'%E/Hermaphrodite (d) U@ﬁﬁf@'ﬂﬁmndromonecious

#eRa =g A SEt 1 Efa w1 Fafead al@m... gl
The best method of control of stored grain pests is

(a) Y#HAeI/Fumigation

(b) Ha‘i?ﬁ'?ﬁIEFITQWSystemic insecticide

(c) 3R Usehel d $TSRUT/Proper drying and storage

(d) 3T FR&/Biological agents

Hreamey F1 FIF-T7 T FeOItar &/ Which group of insecticide is carcinogenic?
(a) FIfATRRERE/Organophosphates

(b) FISHC/Carbamates

(c) TEAfeS gredeNEgq/Synthetic Pyrethroids

(d) q’ﬂ‘ﬁT@/Fumigants

g Y I & g7 fFw & Qv 3@y awae......... gl

For better root development of Apple, temperature required is

(a) 3°C (b)  15-20°C
(c) 18°C @ 7°C
15
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69.

70.

71.

72.

73.

The protein content in linseed cake has been estimated at...... percent.
(a) 36 . (b)y 24
(¢} 12 (d) 48

(a) THRY/Tomato (b) ©ITS/Onion
(¢) fRUA/Okra (d) #HY/Pea

T Ad el o A1 RS Furg 10 e IR 3HR FAg 87 B 3EH 9F Ieo &
&A%l FH qqT ST

The slant height of a right circular cone is 10 m and its height is 8m. Find the area of its curved

surface.
(a) 307mm? (b) 407 m?
(¢) 60mm’ (d 80mm?

......... shaw]jrtfr Wel B/Which is climacteric fruit

(a) 3HA/Pomegranate (b) ST/ Jamun
(c) 3SFig (d) erV/Litchi

A, B3R ¢ &7 3itga aR 45T €1 39 A 3B Fr g 9w 4ofFaans 3iRB

R C w43 fFAmFAE AT B FT AT ... ey

The average weights of A, B and C is 45 kg. If the average weight of A and B is 40 kg and that of
B and C be 43 kg, then the weight of B is,

(@) 17 [Feland/kg (b) 20 eI A/Kg
(c) 26 fFarama/Kg (d) 31 TFaTamA/Kg
16 1388



74.

75.

76.

fAEY 1 3TEY PRI &I A T & foIT “A-F Tehelleh T IR H3T ST 8
A=B(1-7)/Y §F % IRT SHHT TRebelal haT AT §, ST A, Kg/ha H 3TcTet fAET & ®rawRya
Y AT E,B, Kg/ha # fHETT 310 367 # BRAGRA T A E 3R Y. 3

“A-value” technique is used to estimate the available phosphorus in the soil. It is calculated using
the formula A=B(1-7)/Y, where A is the amount of available soil phosphorus in Kg/ha, B is the
amount of added fertilizer phosphorus in kg/ha and Y is the:

(@) T3 & 3ame arv oie fr derar
Yield of the plant grown in soil
(b) FHET A facTAET BIABREA Hf Fel A
Total quantity of phosphorus present in the soil
() IO TAETATT BIAPRE HT Hel AT
Total quantity of phosphorus present in the plant
(@) &g fAam v wrath s 393 A Scdet 9 J BIHERE &7 3T

Fraction of the phosphorus in the plant which is derived from the phosphatic fertilizer
added to the soil

faraf@a & #l9-ar #37 f ay W 31¥% ggelisr v =1 afenRa &=ar &

Which one of the following statements correctly defines economic threshold level

(a) mmmﬁyﬁmmmﬁq@ﬁﬁﬂﬁ%mmﬁmsﬁammmw
T 3ty P e Tfew

the pest population level at which control measures should be taken to prevent the pest from
economic injury level

(b) T TR ST HEAT Heled SiT TR &7fd agameam

the lowest pest population density that will cause economic damage
(c) wmmaﬁadwmmaﬁmaﬁqgﬂm

the optimum pest population density that will cause economic damage
(d) AT ST HEAT TR SIGT AT NG [AFFOT IUTT IFATHH &

the pest population level at which application of pest control measures will be uneconomical

Prafafea d B fr ada geea § JEfd @ A ST 9
Which one of the following is the correct order regarding thermal conductivity of soil
(@) d>fAF>gATYd/peat >clay>loam>sand

(b) mgﬂbwtﬁtlclayﬂoamxanbpeat

(©) gHe-IA>Ue>fAglloam>sand>peat>clay

(d) WW%W/sandﬂoamxlap peat
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77.

78.

79.

80.

frr=fafed siiweha dlal A frad w0 7o) I8 (F TRE & T & 9hiT 41 Sar §
The fruit pulp of which one of the following medicinal plant is used as laxative

(2) U JeallaiVM/atropa belladonna

(b) 3AYUR AfA3MeF/anethum graveolens

(c) Hfaar ﬁh’RJﬂTa’cassia fistula

(d) aifewar gdersa/rauwolfia serpentine

fafeieer Sorgl X ant 7= g & nere-aty & Hiea 77 F ofeas ...qanT uwe B
To convert the point of rainfall value at various stations into an average value over a catchment area
is possible by

(a) THAT Are" faf/Arithmetical mean method
(by o= agagsf @&/ Thiessen polygon method
) THavor fafty Isohyetal method

(@ 39dad GHVAI of them

M2 & I F Ieyg & fov fFar sar §

Radiosonde is used to study

(a) Hdg W ﬁi-ﬂ fearsl/earth’s albedo at surface

(b) arg H ag ‘quslﬁ F 3] HI=T/estimate air pollutants in air
{©) 61'{1:?433?!2[ HAT &Y HATHT/atmospheric moisture content

d) Fuir a'l'{lgﬂ??ﬁ'q' gRTufaai/upper atmosphere’s conditions

gl FIHRIY 3U & ACAH A ARG H 30 A 9@ &t SRt o
WA & & Belel ¥ FhIATIGtH AT AT FH|

Two of the more important diseases of potato whose spread in India has been successfully restricted
through plant quarantine measures include

(a) @ FaaTereT aur R AMotal/brown rot and late blight

(b) T T2T TafoTH FATEIS/wart and golden nematode

(c) T fAsTereT aur Fﬁ?ﬁ?x’ring rot & mosaic

(d) shawp Ferfer TUT TR fAaTedied/bacterial wilt and charcoal rot
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